20245 HREADSIRERERRERER (1R EKREDIEE)

BEATIR ) _ . e .
e BE ERR 2E itmE | BRE | EFE | SRE | MERE | LWER | &BEE | TRE | HAR | #BE | BER | TER | ZRH |[#FNIE
(1) BAREBEELR 560 5 0 4 9 0 2 8 18 21 13 17 11 7 40
(2) 2 RIRBRAIEEE 272 2 0 1 5 0 2 3 9 8 6 8 3 3 19
FR - EREEER
() EEGEHBRAIBEL 204 1 0 2 5 0 1 1 10 11 6 3 4 1 12
(4)REIRTE SR E 138 1 0 1 4 0 1 0 7 7 4 3 2 1 9
(5)ZAREBEL 36 0 0 1 0 1 0 0 1 2 0 0 1 1 2
FRIERBRDAHZAR
(6)FRIHBRAIEELK 17 0 0 1 0 1 0 0 0 0 0 0 0 0 0
(7)BIREBEEL 113 0 0 1 1 1 3 1 6 3 2 2 0 3 3
ERGREBRDAHZAR
(8)EALHEREHIEE 28 0 0 0 0 0 1 0 1 1 2 1 0 1 0
0)SREATEEL 46 1 1 0 0 0 0 1 1 3 0 0 2 0 0
EaTTOT S Lot itk
(EREBROHBR) o
(10)IBEREAASEER 14 0 0 0 0 0 0 1 0 0 0 0 0 0 0
11)SHREEES 403 8 1 1 5 2 0 4 9 16 14 13 4 1 12
S i
(REEBROHER) o
(12)IBERE A E LR 143 2 1 0 4 1 0 3 3 8 4 6 0 1 3
%R (13) AR FPBEH(RIRTESIEER) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= St
sy | CHEREEER 1,158 14 2 7 15 4 5 14 35 45 29 32 18 12 57
(1)+(5)+(7)+(9)+(11)+(13)
oy NE=3 = e
(15)FHZRHEHL 642 6 1 5 9 1 2 9 20 26 13 17 14 8 42
(1)+(5)+(9)
16)FRatEE
gy |LOFHEHEER 303 2 0 2 5 1 2 4 9 8 6 8 3 3 19
(2)+(6)+(10)
(17)1*34‘%%% 0 0 0 0, 0 0, 0 0 0, 0 0 0 0, 0, 0
(16)/(15) 47.2%| 33.3%| 0.0%| 40.0%| 55.6%| 100.0%| 100.0%| 44.4%| 45.0%| 30.8%| 46.2%| 47.1%| 21.4%| 37.5%| 45.2%
=, =2
(18)RERRFREL 1,076 13 1 6 15 3 5 13 33 40 29 32 15 11 55
(1)+(7)+(11)
1 &
=57 (L)REENEHE 375 3 1 2 9 1 2 4 14 20 12 10 4 3 15
(3)+(8)+(12)
(zo)i}ﬁé%:—'—_ﬁ 0, 0y 0, 0y 0, 0y 0, 0, 0, 0, 0, 0, 0, 0, 0,
(19)/(18) 34.9%| 23.1%]| 100.0%| 33.3%| 60.0%| 33.3%| 40.0%| 30.8%| 42.4%| 50.0%| 41.4%| 31.3%| 26.7%| 27.3%| 27.3%
21)BERE AR S
st |(GEERESEER 295 3 1 1 8 1 1 4 10 15 8 9 2 2 12
(4)+(10)+(12)+(13)
RERESTEE
AR (%) (22)22:;;?; & 25.5%| 21.4%| 50.0%| 14.3%| 53.3%| 25.0%| 20.0%| 28.6%| 28.6%| 33.3%| 27.6%| 28.1%| 11.1%| 16.7%| 21.1%
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20245 HREADSIRERERRERER (1R EKREDIEE)

HERTIR - _ _ N .
271 - = 2E | FEL | BB | AR | BHE | LRE | BEFE | KR8 | SEE | BNE | S8 | 4EE | SN | ARS | BER | =RE | e
(1) BAREBEELR 560 2 7 5 5 2 10 10 47 102 19 21 14 24 33 1 1
(2)FRHBREHEE 272 2 2 1 1 2 3 7 21 61 11 7 10 14 16 1 1
FR - EREEER
() EIHRAIEEE 204 1 1 2 2 1 2 5 27 40 8 5 9 11 8 1 0
(4)REIRTE SR E 138 1 0 1 1 1 1 4 13 33 6 3 8 8 5 1 0
(5)SREBEL 36 0 1 0 0 0 1 2 1 7 1 0 1 3 1 0 0
FRIERBRDAHZAR
(6)FRIHEBRAIEEE 17 0 0 0 0 0 1 2 1 5 0 0 0 2 1 0 0
(7)BIREBEEL 113 1 1 1 2 1 3 5 8 16 11 3 0 3 1 0 1
ERGRBRDHZHR
(8) IR AIEEE 28 0 0 0 0 1 0 1 3 3 2 0 0 2 0 0 0
. 0)SREATEEL 46 1 1 0 1 0 0 0 8 12 0 1 0 0 2 0 0
EaTTOT S Lot itk
(FRHBOHTR) o
(10)iHERESIRE S 14 1 0 0 0 0 0 0 1 4 0 1 0 0 1 0 0
. 11)SHREEES 403 2 9 13 1 4 17 5 37 80 16 7 9 25 17 4 0
S i
(REEBROHER) -
(12)IBERE A E LR 143 1 1 1 0 1 5 0 14 28 8 1 4 16 4 0 0
AR (13)BIREPBER(RERTEAIEELE) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
14)SHREEEE
sy | CHEREEER 1,158 6 19 19 9 7 31 22 101 217 47 32 24 55 54 5 2
(1)+(5)+(7)+(9)+(11)+(13)
15)2 R SEEH
(15)FHZRHEHL 642 3 9 5 6 2 11 12 56 121 20 22 15 27 36 1 1
(1)+(5)+(9)
16)FHAIRES
gy |LOFHEHEER 303 3 2 1 1 2 4 9 23 70 11 8 10 16 18 1 1
(2)+(6)+(10)
(17)FRE18xK
(16)/(15) 47.2%| 100.0%| 22.2%| 20.0%| 16.7%]| 100.0%| 36.4%| 75.0%| 41.1%| 57.9%| 55.0%| 36.4%| 66.7%| 59.3%| 50.0%| 100.0%| 100.0%
. 18)ERBIREBER
B (18) R R 1,076 5 17 19 8 7 30 20 92 198 46 31 23 52 51 5 2
(1)+(7)+(11)
- 19)= %A
=57 (L)REENEHE 375 2 2 3 2 3 7 6 44 71 18 6 13 29 12 1 0
(3)+(8)+(12)
(20)EFEIEER
(19)/(18) 34.9%| 40.0%| 11.8%| 15.8%| 25.0%| 42.9%| 23.3%| 30.0%| 47.8%| 35.9%| 39.1%| 19.4%| 56.5%| 55.8%| 23.5%| 20.0%| 0.0%
21 1 =LA 4
st |(GEERESEER 295 3 1 2 1 2 6 4 28 65 14 5 12 24 10 1 0
(4)+(10)+(12)+(13)
22)RERTEAIRE
otz (%) | )(}ziﬁﬁ;% 25.5%| 50.0%| 5.3%| 10.5%| 11.1%| 28.6%| 19.4%| 18.2%| 27.7%| 30.0%| 29.8%| 15.6%| 50.0%| 43.6%| 18.5%| 20.0%| 0.0%
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20245 HREADSIRERERRERER (1R EKREDIEE)

BEHTIR = = " I .
e BE ERR 2E ERE | BRE | MUE | ZBE | WOR | #BR | JIE | BEe | S8 | EHE | #HE | REBE | AR | ADE | ZRE BRREBE| e
(1)BHRERTEEL 560 0 1 7 24 21 2 3 2 0 16 4 0 9 9 3 0 1
(2)FRHBREHEE 272 0 1 3 6 9 1 0 1 0 6 1 0 7 7 1 0 0
FR - EREEER
(3)EHERBRAIREY 204 0 1 2 4 6 0 0 1 0 5 1 0 3 1 0 0 0
(AR EAIREL 138 0 1 0 2 3 0 0 1 0 2 0 0 2 1 0 0 0
(5)BHRERTEEL 36 0 1 0 1 1 0 3 0 0 1 0 0 0 1 1 0 0
FRIERBRDAHZAR
(6)FRIRBRAIREL 17 0 0 0 0 0 0 2 0 0 0 0 0 0 1 0 0 0
(7)BARERTEEL 113 1 1 1 10 1 1 2 1 0 4 1 0 4 0 2 0 1
ERGREBRDAHZAR
(8)E=HERBRAIREL 28 0 0 1 4 1 0 0 0 0 0 0 0 3 0 0 0 0
0)ZHREFHEL 46 0 0 0 6 2 0 1 0 0 0 0 0 0 2 0 0 0
EaTTOT S Lot itk
(FRRBROHSR) -
(10)EARTE AR E L 14 0 0 0 3 0 0 0 0 0 0 0 0 0 2 0 0 0
11)SHREBEL 403 4 0 11 13 7 3 3 3 0 11 2 2 6 2 0 0 0
S i
(ERABROHSR) o
(12)BEARTE AR E L 143 3 0 3 2 2 1 2 2 0 5 0 0 2 1 0 0 0
mARR (13)BIRERAE L (RERTEAIREL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= St
sy | CHEREEER 1,158 5 3 19 54 32 6 12 6 0 32 7 2 19 14 6 0 2
(1)+(5)+(7)+(9)+(11)+(13)
AT = e
(15)FHZRHEHL 642 0 2 7 31 24 2 7 2 0 17 4 0 9 12 4 0 1
(1)+(5)+(9)
16)FFatEs
gy |LOFHEHEER 303 0 1 3 9 9 1 2 1 0 6 1 0 7 10 1 0 0
(2)+(6)+(10)
(17)$*ﬂ§*§$ 0 0, 0, 0, 0 0, 0, 0, 0, 0, 0, 0, [o) 0,
(6)/(15) 47.2% —| 50.0%| 42.9%| 29.0%| 37.5%| 50.0%| 28.6%| 50.0% —| 35.3%| 25.0% —| 77.8%| 83.3%| 25.0% - o0.0%
=, =2
(18)RERRFREL 1,076 5 2 19 47 29 6 8 6 0 31 7 2 19 11 5 0 2
(1)+(7)+(11)
1 =
=57 (L)REENEHE 375 3 1 6 10 9 1 2 3 0 10 1 0 8 2 0 0 0
(3)+(8)+(12)
(Zo)i}ﬁéﬁg 0, 0, 0, (+) () 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0,
(19y/(18) 34.9%| 60.0%| 50.0%| 31.6%| 21.3%| 31.0%| 16.7%| 25.0%| 50.0% —| 32.3%| 14.3%| 0.0%| 42.1%| 18.2%| 0.0% -l 0.0%
21) IR T RS
st |(GEERESEER 295 3 1 3 7 5 1 2 3 0 7 0 0 4 4 0 0 0
(4)+(10)+(12)+(13)
RERESTEE
BIRE (%) (Zz)gzi;jfi) & 25.5%| 60.0%| 33.3%| 15.8%| 13.0%| 15.6%| 16.7%| 16.7%]| 50.0% —| 21.9%| 0.0%| 0.0%| 21.1%| 28.6%| 0.0% - 0.0%




